Solve each exponential equation. Give the exact value for x.
(a) 97x=1/81
9% = L. => 81=92
81

9x — 1,
92’

9% =9-2; => @/ @ = p9® gnda >0, a # 1 then f(x) = g(x)

9=9 => x=-2.

(b) 37x=6

3¥=6; => la¥* = b => x = log, b|

log6
log3 -

1.6309.

3% = 6; => x=log; 6 =>log; 6 =

(c) 4rx=2.5
4 =25="3
2
Eliminate the exponential from the left hand side.

Take the logarithm base 4 of both sides:

logE
Answer: x=—= = 0.6609.
log 4

(d) 2Ax =3
2% =3;
Eliminate the exponential from the left hand side.

Take the logarithm base 2 of both sides:

Answer: x=loi3 =1.584.
log2
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